Группа 1

1) Х + 5,23=6
2) ,4)  11,75 – х = 7,23
3) 10х = 73,7
5) Х : 100 = 0,745
6) 17,8 + х = 29,29
Группа 2

1. Х + 4,8 = 12,1
2. 43,24 – х = 27,8
3. Х ∙ 100 = 332
4. 10х = 25,5
5. 0,23 + х = 0,9 
6.  Х – 0,27 =0,5
Группа 3

1. 4 – х = 3,23

2. Х + 2,5 = 9,8

3. Х – 47,5 = 66

4. Х : 10 = 1,52

5. 10х = 22,5

Группа 5
1) Х + 5,23 = 6
2), 5)  Х ∙ 100 = 430

2) Х : 100 = 0,745

3) Х – 8,07 = 26,5

6) Х  +  13,4 = 31,9

Группа 4

1) Х + 3,45 = 4,35

2) Х ∙ 100 = 332
3) Х – 47,5 = 66

4) 13,6 – х = 12

5) 17,8 + х = 29,29

